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Please make sure that the printed pages in this question paper are 16 in number
and it contains 20 questions.
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The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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o TUCYRTHE F FaRkET 2 o e T& Al o savamagar & fhd Gt fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER Ul R To JoT-TH T Haeq [i@ W To F HARFT FIT-YH G F FE A T
g siie 3wy Jo7t & IR T Frd ST F 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F97 % T 37 @ {4 & Ghled Fe o l& Fe7-0F {7 T 78 8, g # I 59
T § 25 4 @ w@hwre Tl /A aan
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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(i) o7 T 1 F GFE (i - xv) TGS JHX % J97 &1 J9% F97 1 5% & 81 [orid el
FY 377 Fae-Ghamr e 8

(iv) 597 @& 2 @ 9 7% Ay FaIT 597 81 J49% 97 2 S T &1 JA% J97 F TV
T 30 =] 7 o

(v) 597 & 10 & 17 7% TG FTGT Jo7 &1 T9% F97 3 oI B &1 JA% J97 F FAT
TTHT 40 %] 7 Fforq
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(vi) F97 TEr 18 @ 20 % 4 FTNT F97 &1 HEAF F9T 5 SF F 81 FAF FI7T & IAT
FTHT 70 = 7 o

(i) F97-99 § 77 &7 @ FZ [y 7T& &1 T 5 fH am g §¢ FwhT gehn F
STIR%E FI7 F&T7 97 77 81 08 7971 & @ oyl da & & J97 HAT 81

General Instructions :
() All questions are compulsory.

(i) Marks for each question are indicated against it.

(iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying
1 mark each. Candidates have to write the correct answer in their answer-
book.

(iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks

each. Answer these in about 30 words each.

(v) Question Numbers 10 to 17 are short answer type questions of 3 marks

each. Answer these in about 40 words each.

(vi)) Question Numbers 18 to 20 are long answer type questions of 5 marks each.

Answer these in about 70 words each.

(vii) There is no over all choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.
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[ TS 9% ]

[ Objective Type Questions ]
1. () e oo § 999 2 §
(A) 9= (B) TREROT
(C) U= T (D) S

Isotonic solutions are those solutions which have same :
(A) Concentration (B). Osmotic Pressure

(C) Surface Tension (D) ~Viscocity

(i) WeE eEINN saFe (SHE) & it ©ee hacis Tefemed & -
(A) -0.5V (B) +1.0V

(C) 0.0V (D) +2.0V

Standard Electrode Potential for Standard Hydrogen Electrode (SHE) is :
(A) 0.5V B +1.0V

(C) 0.0V (D) +2.0V
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(ili) FRET o ReRie § SIfHfha &1 SIS STq HINT 1

K =1.6x10"° L Mol™! Sec!

(A) sq?q (B) 9¥H
(C) faim (D) 9 & HI3 T8

Identify the order of reaction from the given rate constant
K =1.6x10"°L Mol™! Sec™! :

(A) Zero (B) First
(C) Second (D) None of these
(iv) AR [Co (NH3)5(CO3) | €L & HisTee H IuHeHASTRd 1 & ° 1
(A) 4 (B) 6
C 8 (D) S

What is the co-ordination number of Cobalt in the [Co (NH3)s(CO3) |CI

compound ?

(A) 4 (B) 6
) 8 (D) S
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(v) Fr=fomed & @ e faga mgel qaites erm ?
(A) CHCI, (B) CH;Cl

(C) CH,Cl, (D) ccy

Which one of the following has the highest dipole moment ?
(A) CHCL (B) CHjCl

(C) CH,Cl, (D) CCl

(vi) SRR CoHsOCH, + HI —S 3K S 4up & Adk BY :

(A) CgHsl, CH30H

(B) CeHsOH,CH5I

(C) CgHsCH,OH,CHI

(D) CH3CH,I, C¢HsOH

In the reaction C¢HsOCHj3 + HI & A+B, Aand Bare :
(A) CgHsI, CH;0H

(B) CgHsOH, CH;I

(C) CgHsCH,OH, CH3I

(D) CH3CH,I, C4HsOH
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(vii) AR CqH5CH = CHCHO % IUPAC A9 .............. gl 1

IUPAC name of the compound CgHsCH = CHCHO is .............. .

(vii) SR A o & gasiia 81 Qe QR o H gemeia el ol 1

Ethyl amine is soluble in water but Aniline does not.

(ix) = & § $9-91 ¥"% RNA ¥ 2 AfFT DNA § & ? 1
(A) e (B) RS
(©) i () T

Which base is present in RNA but not in DNA ?

(A) Thymine (B) Cytosine
(C) Guanine (D) Uracil
(x) oTuBRT B AR , 99 K=3x10"*s7!. 1
Order of reaction is .............. , when K =3x10"%s7!.
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(xi) T HHIRT B QU HINT

CH4CH,0H —<one-Ha50s |

443 K

Complete the following equation :

CH4CH,0H —<one-Ha50s

443 K

(xii) et S #1FH- G BM ! SR oL 2l

Deficiency of Vitamin 'D' causes ........0.... J

(xiii) TEIRTEY faees @ § ?

What are isotonic solutions ?

(xiv) K3[Fe (CN)g] A% & IUPAC M fafew)

Write IUPAC name of Kj3[Fe (CN)g] Compound.

(xv) NI, Uehled & SUMET Tl & § ?

Why Phenol is more Acidic then Alcohol ?

229/(Set : A)

Previous Pathshala

1



(9) 229/(Set : A)
[ SAfeeTg SAEE 99 |

[ Very Short Answer Type Questions ]

2. 39 fa@@ # AEar T HNT S 4g NaOH, 200 ml e & gar gam 2 2

Calculate the Molarity of a solution containing 4g NaOH in 200 ml of solution.

3. IO AT Gkl Holt l IR FifrT 2
Define Catalyst and Activation Energy.

4. T G R wEd B 7 [Prcl | § Qfedw @ Ty den S &l >
What is co-ordination number ? What will"be the co-ordination number of Pt in
[ptci] > ?

5. fr=fied Bciom Afe st & & @9 dg sv? srffear 3w 2

() < >-cHya dR >l

(i) ~~T A ~~Cl

In the following pairs of halogen compound which would undergo SN? reaction

faster ?

() < >—cHycl and<__>—Cl
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6. THATT ATIT qAT ST SAAHIN A STIGIRE F § 7 2

Why transition metals and many of their compounds show paramagnetic

behaviour ?

7. Bicy SANIEHAT P IS0 Fled SRS HifoTg| 2

Explain with example Kolbe's reaction.

8. FHRU IAET 6, Ff QAN HT Faoich FAFAHAT d offers & ? 2

Give reason for the higher boiling point of ethanol in comparison to
methoxymethane ?

9. ;mmaﬁmw,waﬁmﬁﬁwaﬁmﬁmmﬁwmﬁﬁw
? 2

Write down the Gattermann reaction, and why this reaction preferred over
Sandmeyer reaction ?

[ €Y ST 999 ]
[ Short Answer Type Questions ]
10. () B0 & W qun & SgyEnT i 2
State Henry's law and give two applications.
(i) 9 g o V& B A F fFaagar ¥ A FW AW H ygRy i e ® 7 1
Why do gases always tend to be less soluble in liquids as the temperature is
raised ?
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11. Fr=fofed & oToea O ST & fu fhm SasT fed & SAaeasd o ?

(i) TH AT AP @B Al 1
(i) T® AT H,0 F O, 1
(i) Th AT MnO, & Mn2* 1

How much charge required in Coulomb for the following reductions or
oxidations ?

(i) 1 mole of AI®* to Al
(ii) 1 mole of H,O to O,

(iij) 1 mole of MnO; to Mn?*

12. UF 999 Hife H AR 7 30% fEs 89 § 40 e W 81 tyo® TR Hbw 3

A first order reaction takes 40 min. for 30% decomposition. Calculate half-life

period.

13. THawl, faE U9 SHIE [FvS 1 B ? U P SEedU i) 3

What is meant by unidentate, didentate, and ambidentate ligand ? Give an

example of each.

14. GRrg feuft forg -
(a) B 1
(b) o o dlo 1
() TETERARHRN 1
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Write short notes on :
(a) Freon
(b) D.D.T.

() Tetrachloromethane

15. TIAIT & T foia & U O e & o =Xl @ fharfafyr faRaw 3

Write three steps mechanism of acid dehydration of ethanol to yield ethene.

16. () J™ ARMRA W Y fewell foiag) 2

Write short note on coupling reaction.

(i) wrafes RN & weaner # Neww Afcmize Geawer B arafeedr #® & S © 7 1

Why Gabriel phthalimide synthesis is preferred for synthesizing primary
amines ?

17. () W= a9 dgad § ged JeEres X 71 6 7 2
What is the basic structural difference between starch and cellulose ?
(i) STFTEYIE THNT ST T B & ° 1

What are non-essential amino acid ?

[ € ST 0 |
[ Long Answer Type Questions ]
18. (i) BUS & fAEQ Tu=cy & &I FE|l P a9 B 3
Explain the both laws of Faraday Electrolysis.

229/(Set : A)

Previous Pathshala




(13) 229/(Set : A)

(i) NiNO3), % Uh fa@a H wied uagiel & a5 PR &l 917 Jaied &Xd 8¢
20 e @& fogq ofvded fGm T, Ni @ Reael AR @Eie X Mafm e ?

(Ni = 58.7) 2

A solution of Ni(NO3), is electrolysed between platinum electrode using a

current of 5 ampere for 20 min., what mass of Ni is deposited at cathode ?

(Ni = 58.7)
gar

OR

(i) SEAUEES AT e ¢ 6 gy & 3

What is electrochemical series ? Give its applications.

(i) IRk u enfeas aRF 0.5 YRR P 97 2 GO B foU yarled Bt B, @ R H & faw
ENCE I 2
If a current of 0.5 ampere flows through a metallic wire for 2 hours, then

how many electrons would flow through the wire ?

19. HRU 4 FL WL/ FX

() EFA T T I AN STTHE FIeR Fi [REd & ? 1
(i) EHHOT I B BN A oTfh I B § 7 1
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(iii) EHHOT T AEFIGA G ARE F SEI § 7 1
(iv) WA T O IS i § ! 1
(V)  MnO, & & §T& SHEU 1

Explain giving reason :

(i) Transition metal and many of their compounds show paramagnetic

behaviour.
(i) The enthalpy of atomization of the transition metal are high.
(iii) The transition metal generally forms coloured compounds.

(iv) Transition metal acts as good catalyst:

(v} Draw the structure of MnO, Ion.
SUE

OR

() UEIGERE 6 § KMnO, &M & [ R w&l & Sw@ dif| 3

Describe the preparation of KMnO, from Pyrolusite ore.

(i) Frege @ € 7 @ SEe dfm 2

What are alloys ? Give two examples.
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20. (a) [T %1 qOF &Y : 2

(i) e AR
(i) fepairacs™
(b) U@ @ fr=1 & ofafia & ¢ 3
(i) A 1, 3-3@AT
(i) =T 237
(i) =e-2 F3H WS
(a) Describe the following :

(i) Cannizaro Reaction

(i) Decarboxylation

(b) Convert Ethanal into following :
(i) Ethanal to Butane 1,3-diol
(ii Ethanal to But 2-enal

(iii) Ethanal to But-2 enoic acid
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T
OR
SATTRAT &1 FHIBOT BT 99 i
(i) e QesSiel duee AR 2
(ii) BA-WIE Afces iR 2
(iti) TELIBT 1

Describe the reaction with the help of equation :
(i) Cross Aldol condensation reaction
(ii)) Hell-Volhard-Zelinsky reaction

(iii) Esterification
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